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Reading Comprehension

(i) 31T JF7I7 TR GUST: Gl /|
S IH-TTH IR GUEE |

The question paper has four sections.

(ii)  FEH GUSH 4B IR UHIGHT T FHHT G |
Y% @S & IR U &) T8 W HH & o7 817 |

The answers to each section must be written at one place.

(iii)  FFTGEIT FITTAFTRY TG TGH1T |

o7-TF @ SJIR Jo7-G&IT 3797 &1 for@1 &t |

Write the question number according to the question paper.

(iv) GV FoHT IR G&paT AGHI |
Y 3971 & I G 7 17T |

Answer all the questions in Sanskrit.
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Qug: — %
SECTION - A

SRS TS, (SRS Faae)
Unseen Reading Comprehension 10 AT:

FrenferRaan = afdwEn Teawe H&had 3T |
FrafaRad 3Tg=ee i Tgeht feu T T o I H6hd | T |
Read the following passage and answer the given questions in Sanskrit.

iR T e rehfoadfa: wht g T SHgE STRER w1 d gean
HERIG, STFT=8- HheeH ga1 Y8aT — Wl FeAE | a9 3T SR srefifdastar sded |
T = T I¢1 Ud 9ET: BellH g, et o Sifaar 7 wiosafy | 31a: femem 3w
fIvhet TamE UMW 7 ° Ig: IFaH — T Ay 3ot STAHET J&mT ATt Qe |
HATTY STRIIAHT, TN J&T07T BATH SRl Sihl: @Iey: — Sde™ 3T8q TauH
ST SHAUTH | S AT hare] Teife=i 7 shaeam |
WRAT .

[ U9 |
Teh I H I GIT |

Answer in one word. ax4=2
(i) Yo JA1 Had: TS T ?
(i) ATV haed foh = Shaedq 7
(iif) “T%: 3L %: qATIISG: 3T WIaRT: 7
(iv) Ha: sy femdianefss g fepm ?
I qUlemeRARRd |
ot areRt | I €T |
Answer in a complete sentence. 2x2=4
() T T foramd garomy s e w2
(i) T 5 fope sr=en 7

3 [P.T.O.



[ Yeaideheus: 3faaq I faca forad |
few e foepedi § @ 3 3or ge fatfa |
Choose and write the appropriate answer from the given options. YVix 4=2
() ‘smiafd @ 3fa Sramee wqug fm ?
() I
@ s
(m &
(F) T |
(i) wrmem’ o fob foreieom 3 ey ?
(F) TR
@) frmag
(M I
(%) | |
(iii) ‘TG T fob qTIIeH 3 Y ?
(F) T,
(@) Iy
(M A
(&) Far|
(iv) Ig: s fob feretimaen 3 wgiy 7
() Sifea:
(@) IhI:
(M Fa
(&) T |
IV. 378 FT=SGH Fd I Yeh Heepa forad |
30 TS o (7T Iugert Sfiefeh Teepel  feffige |

Write the appropriate title for this passage in Sanskrit. 2

4
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wle: — 9
SECTION - B

TSR, (TEATCHH -1

Writing Skills 15 g

Tt wfa feTRaay o1a.93 meTvEeTes: T 1 fored |
Tt @t forg e ffetRaa o= ot megn # fou 7o sregi <6t wgrrar & qut Rt g fafau |

Complete the following letter, written to your friend, with the help of the words given in

the box and rewrite the same. %x10=5
frmermg
TR o=t |
U (i) |
39 99 v WY | a9 Adarfehiaden i) | @ 9 wlemefomd Gi) |
IR, W@ (iv) TS | A VI WgEH | (v) Y fewuma:
vi) | e femurdr wafd, qer 9am: SeAaE:, UM Waduies: Sesiiedr: 59
(vii)  wiEed | oo fafimme: (vii) . TS 53 3T TS | 9H TR
& o(ix) e vEen alsf| | TR @ T SIS | TR e T
TS (x) |
T TfTgeat
fSrefere
AW

e, wicet:, g, TH-:, T, 3, T,
FrTerd, ey, ST |

5 [P.T.O.



52

Y e T uaT AT YEasegHT IR U ST Tehdd foed |
= feu 7T o= <1 i wep # fou e wreqi <At HERIaT § Ui §5hd el | i |

Describe the following picture in five Sanskrit sentences with the help of the words given
in the box below. 2x5=10

1Y, AUGHAH, TEH, STeT, T, 9, J&:, Halal:, ffetean, s1em, iy,
3E[, =7, gafd, I8 |
JAYET/OR
HYWTIEATeGHI ATgrR Fefaifad fowem srfirecy gty Tepaaret: Ty 31g=ee forad |
T # fe e wrg} <1 werrEn & frefrfaa fava w gt depd S # b e fafE |

Write a paragraph in five Sanskrit sentences on the following topic with the help of the
words given in the box. 2x5=10

“waaar-feaq:’
HI
ST, TG, Sreeh1icTeh WA=, TEI9ANE: , THE=H,
TERIGHITER,, TS, TATH=, forTerRirsm=T: , JTdrerv,
TSI TSI, SATETeY, 3RS, Temaiey |
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Qug: — T
SECTION - C
ATIIHATHIH (T SATH)

Applied Grammar 25 3

FUfRgaaTRy Wifgauey A ai-=eg a1 el fored |
Trfefiaa are o t@ifera el # afr steen afufaese ot fafigu |

Write the underlined words of the following sentences after joining or disjoining

Sandhis. 1x4=4

(i) 3T ARHI 1 + 31: &: 3 ?
(i)  Helgdl: HU: e |
(if) T T: Teh + B TIH T |
(iv) T Al Hoa |

FYITARgqaTRYy WWTgaueHT THTE foug a1 Seafaemeus: fawn foeq |
freferftaa amerit & t@ifed el 1 aum 312 fourg feu mu fasredt & & gem fafw |

Choose and write the correct compounded or expounded forms of the underlined

words in the following sentences. 1x4=4

() 3TE TP o HEha gy Fr-HARIE: TS |
(i) Tgfafem
(i) TgETEA
(i) Tgafayad |
(@) heTfd 3 7 seriead |
(i) THA
(i) 3H+%
(iii) Bd + 7 |
() Arar-Tet gorRr ghenyTeH TS |
() T =
(i) @ = fars
(iii) T = el = |

[P.T.O.



(F) TG TR0 e T AW 1M |
(i)
(i) ®I=g feRe
(iii) - 3TTEIH |

e forer |

Fraforfiaa STl i iR TS % R S Y S A 9o Hh S I
forhedi § § gt feafa |

Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots or words, selecting the correct answer from the options given
below : 1x4=4

(%) AU TAg 3T THAY 7 ¥ + IS + T |
(i) s
(ii)  SrEeRTe,
(iii) SFH |

(@) AT ST 50T = i |

() =9 +Tq

(i) =9 + &
(i) =9 + 3T |
() AT Heiw Hgwe e |
(i) Wed+™
(i) HEM + =
(i) T&d +q |
(a) G SH: Sleh TOWe J UTCA |
(i) & +7q
(i) & + Fag
(iii) & + I |
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FrenferRad Hare wem Ve Ue: areuiad- el e 9 31 fored |

Ffeifad garg ! AW ¥ fou MU wreg) i TERIAT ¥ Ao UiEdd Hid gU aEgu

TaTE H: fetfey |

Fill in the following dialogue by choosing the right words as per rules of voice.1 x 3 =3
Tirer: — o 3reirR: TS waf 7

o1 - 3T, W () ¥ |
et — fob feaer: sremues FoeRufa 7

37Meh: — 3T, (ii)

L THERI |

Tarereh: — fob @ 1T MU Serrt ST ?
BA: — 3, 7Y HEAT SO el (iii) |

enferiaafeTearan fedeerm sersieshemee: = |
Freferfad feerat & farm wormi <t i reraree wrsgi | IR |

Rewrite the daily routine using Sanskrit words in place of figures.

A

3T, fe R, dTe: |

(i) W YT ITa: 5.00 yHone s |

(i) 378 UTd: 8.30 R TS |

(iil) @ AT HEATR 2.00 fernermg SrTesid |
(iv) HH Seh: | 7.30 T8 A |

renferRaaarsrRry ferermri aemEmed: 3fuq: srerde: i fored |
frefafiaa amerit ® frar weri 6t gfd e # feu o 3o vl < gr i |

Yox 4=2

Fill in the blanks in the following sentences with appropriate indeclinable words

given in the box.

() Trwm Tt sy 2

(i) ¥E: e HEea:, A gsad )
(iii) ¥ ¥€ o Fog gehevm_ 3Thed |
(iv) Tan: UUENE 37T |

A

3a%dq:, 3, 3=, gEIfa

9

1x4=4
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11.
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FfTRIqaTRY W@Tgauet 3REH 31 | 3G Ig Hened 3H: foreq |
frefafiaa arerit § W@iferd Ug 3g 7 | 373G TS I TN ot - foifau |

Correct the underlined incorrect words in the following sentences : 1x4=4
() g STforeh faemer™ mT=sfd |

(i) TorH 378 Hel GeohT TGl TTesTH 7

(iii) forst: ymomed va: 7 T=sfd |

(iv) o wreprem e a: fed ?

LCLCHER
SECTION -D

ufea-raaigay (Jfsd-TasieT)
Reading Comprehension 30

FUNTARGA T, T, AT & qiSea FEaTTAHH I Fhad for@d |

Frferiaa e, Fe 3TR 1A Sl Ugeht U T Je1 o 3Tt T%ehd § fAf |

Read the following prose, poetry and drama passages and answer the given questions in
Sanskrit.

(31) T
T 3 — WTeH, | WaHRY TR AT STTE S, $eaity | SAfevadny —
f spaarfor 72
fay: 3am — afe war fia: qe1 = TR 9y g SSuIH, 39 HH ARhATET et
WA | T Yo Tl S, — ik e gehtH T | T, w3 G, $90, 3T
Ireh: K1Y Ifa: @ITq | 312raT wag A | 3fa fommd e sty — ot i 1 feRneka
TEINT | 378 YaId TgIHT TSI |
T3
I UehcH 30 |
Teh ¥IeG H IR ST |
Answer in one word. 1x2=2
() b TG gohtHa 3fd : Tfe=aaq ?
(ii) TS 9 FFTE HgH T 7
I YofareH 3T |
oot areRt | I €T |

Answer in a complete sentence. 2x1=2

fowr: T fopy SartaT ?

10
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I1I

(3) e

Yt Ifaq I faen foad |
fou MU foehedt ® @ 3fua 3w g fotfia |
Choose and write the appropriate answer from the given options : % % 4 =2
(%) 3D AHAET oo feh feromyomy
() Ha:
YEREEL
(i) =TI |
(@) e 3f foramrew shque Ty 7
() faw:
(i) =
(i) T |
(M) qa s fob foemueH 313 Y& 7
() wed
(i) #|
(iii) forw: |
(F) “TH ARIEAT S AW 3fel TG, hell TR, ?
(i) T
(i) faum
(iii) B |

T2 f& #9: 07 | T Sagged |
TETE I8 7= S ggseht ||

J3HT:

L

IL.

Tehued 39 |
T T8 H IR N |

Answer in one word. 1x2=2
(i) o FIEH 3T9H: Ggohl HYAT ?

(i) = fopm At ?

qufaTeRH 3T |

quigTeRT H I IR |

Answer in a complete sentence. 2x1=2

T Shigem Wafd ?

11 [ P.T.O.
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I1I

Yt Ifaq I faen foad |
feu Mo foeredt & @ 3fa 3w g fotfau |

Choose and write the appropriate answer from the given options. 2 x4 =2

(%)

(@)

()

(=)

(3)

vareh “SfaepfeT srd foh qafae wgwy ¢

(i) =&

(i) STy

(iti) GTHA |

TR 3fd TRATIER Hug fm ?

(i) P

(i)

(i) 3789 |

‘3TEY’ 3f TG HE Y, ?

(i) AP

(i) ST

(iii) & |

Ter e fop foretiadey 3 wgeH ?

() wHIA

(i) geHq

(i) =< |

AT

femiy: — 318 Tty o arew: Qi wEiE: | 3R T wEyYHy
35 o9 T | 37d: ITEUREE Ye: IEUE: |

TR — w9 | Sfuad e | emfadsgsrs: Rty gareay:
I | 37A: TRV | AT T ARG YR T YA |
fagen = @ wwEwE | HmdE g ™ @

TF | QST Hg: AR T TG | TETEaU JHe 3T
TCRI hae Yehfd: UF 7 fafaen 7eeT 9 yogq ewhia: MY |
12
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IL.

II1.

ThUH 3L |

Th 91sg | IR T |

Answer in one word. 1x2=2
(%) AT T i T2 Ta8i= ?

(@) T ThET: AT 35 Te¥ T ?

qufaTeRH 3T |
oot aTeRT | 3T T |
Answer in a complete sentence. 2x1=2
3T TCH: TV Hel: B ?
Jeddehed s Ifaaq I faen foad |
feu e foenedi o @ 3faa ST gAew fafm |
Choose and write the appropriate answer from the given options. %2 x4 =2
(%) Tt 3f fopamaee sque fom 7
(i) femm:
(i) UeATreehr
(iii) ShIY: |
(@) femmer™ g9 foh Tatey 3 ey ?
()
(i) Temfs:
(iii) @a: |
() g seore fop foretmuey v e ?
(i) wie;
(i) U
(i) g |
(1) 3 HId T goI I S TG Hed TTH 7
(i) ™
(i) SIS
(iii) 3TEUTEATH |
13 [ P.T.O.



12.  TETfgd-var e SeAHI Hod |
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52

T@Tfgd Ugl @ YR T g9 famior hifs |

Frame the questions on the basis of underlined words, 1x4=4
(i)  ToRE STV 6 Ueh =1g: ferfea |

(i) Sferersr: i T v |

(iii) &&= ! Sraefife: sreT: TEsHTE: |

(iv) I e HAH R weE |

HuTd: Tgfaauert facn srafaRadeetiergae 39 T |
A H B goferd ug gAeRt Feferiad ST weilehi o 37 sl quf shifvg |

Complete the prose order of the following twe shlokas by choosing the appropriate

words given in the box. v x 8§ =4
(i) SIeMIdied 3: GG I1eh TIoRferetone |
HIhILETE o7 1 Jod: T &I T ||

FeR: - F: () W (i) 9™ g ud (i) el &
(v g% @ gelt (vafd) |
(i) o :EerE: | 9 ag R A e |
e anfd T e, srdme Hussiee ||
Fam: - fEweE: ) w w3 (i) ded | deEe (W)
(i) w;AGv)_ (um) FudeE wald |
A

ITEHHY, T, AT IEH, HigH, FHeamam, Iafamienndg, g%, Hmshagyad |

14
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srenferfadenemTT wgfd wie fasheter: e forga |
frferfaa st 1 agfad wa fashedt # & g foafae |
Choose and write the correct gist of the following sentences from the given options.
1x4=4
(%) TR < Igd q9 3o |
(i) wEw
(ii) =Ry
(iii) STHIFM |
(@) YIS el < TEYT U 7T |
() #IgH F=1
IEL
(ili) ¥ |
(1) GHT: GIe Tl T T e |
(i) e
(i) uia:

(i) wvE: |

(9) el 6 gd: CoI: Wsh: SUE: |
(i) =
(i) =
(iii) foreaq |

15
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